2.2 Notes
Factoring Quadratics

Factor

xZ- Tx + 10 xl=x®x
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First Outer Inner Last

2 _ 5y - 2x =I><I0
Eactor Quadeatics

(Rewrite expressions in different forms using
| Can mathematical properties)

Bellwork:
List all the factor pairs:
1. © 2. 24 3. 48

Multiply the following binomials.

4. (3x—4)(x—-2) 5. (7x—06)(x—3)



You just practiced multiplying two binomials.
Today we will be factoring, which is the reverse of
multiplying.

A~
(X + 2)(k + 5) = x2 + 5x + 2x + 10
<

=x2+ 7x+ 10
MONS

Equation s 3X2 + 7X + 2

(Standard form)

1stterm middle term last term

|

Factor Pairs

-~(0,0(0,0)

4 =

Check:
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Equation s
(Standard form)

32 -TX + 2

15t term middle term last term

Factor Pairs Factor Pairs
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sign sign

Check:

SIZNS

Equation =
(Standard form)

3x%-5x-2

15t term middle term last term

Factor Pairs Factor Pairs

--(0,00,0
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sign sign

Check:
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Equation =
(Standard form)

3%+ 5x-2

1=t term middle term

Factor Pairs

-~(0,00(C

(+iori—)

sign

Check:

Example:

Equation =

(Standard form)
1t term middle term

|

Factor Pairs

last term

Factor Pairs

O)

1

(+)ar(—)
LT L)

sign

o2x°-Tx+5

last term

Factor Pairs

--(,0 (1,0

(+)ori{—)

sign

Check:

(+)or({—)

sign



Example:

Equation = 5X2 + 6X = 8

(Standard form)

1stterm middle term last term

1

Factor Pairs Factor Pairs

--(0,00,0

(+)or(=) (+iar(—)
sign sign

Check:

Example: ¥2 -10x + 24

Equation ==
(Standard form)

1stterm middle term last term

Factor Pairs

Factor Pairs
Guess == ( O) ( O)
Hor(=) (‘l'}g =)
sign sign

check:



Example: ,
Equation 2X + 13X + 6

(Standard form)
1stterm middle term last term
Factor Pairs Factor Pairs
(Hor (=) (H)or (=)
sign sign

check:

Practice:

5x? -8x-13

15t term middle term last term

|

Equation ==
(Standard form)

Factor Pairs Factor Pairs

~-(1,0(,0)

(Hor () (Hyor ()

sign sign




Practice:

Equation =
(Standard form)

X2 + 25x + 2

middle term last term

|

Factor Pairs Factor Pairs

--(,0(J,0)

(F)or (=) (+) or (-)
sign sign

Special Case: Difference of perfect squares:

a’-b>=(a-b)(a+Db)

Factor:

X*-16 m? - 81

4x* -9



Factor:

Sm*+ 17m - 12 2n°+ 15n + 7

4m? + 8m + 3 n’-6n-16
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